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D V32— \/(-5)2+ V22 =3-5+2=0

@ (-2)2-(-V3)2- V52 =2-3-5=-6
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®vFx (3) + (-3) =2x5+5=3

® V32 Va2 \/(-5)2=3+4-5=2
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D V52 x (—2)2:3 @M+ V10000 = 200
® -V + (Vi3) =6 @ VI - /(97 =1

® /(-20)2 - V400 = 0

@ +0.04 + V10000 = 0.002
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@®)3a + 5b ® 5a-5b

2a +a - (-5b) = 3a + 5b
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V(=a)? + Via® - \/(=5a)?
= —(-a) + 2a — (5a)
=a+2a-5a

= —2a
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@ V942 x /(=6b)% = 18ab

@ -/(3a)? + \/(-2a)% = ga

® /(-5b)% - V16b2 = b

@2 Va2 x \/(=b)? + V25a2b% = ~Tab
® Va?+ \/(-b)>=a+b
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@ V9a2 x /(—6b)2 = 3a x (—6b) = —18ab

@ - /B + /(2a)? = g

® /(=5b)2 — V16b2 = |5b| - |4b| = ~5b + 4b = —b
® Va2 + V(=b)Z=a-b
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1 }
a<0<¥d, V8la? + (- V3a)2 + /(-0.5a)2 x <\/ 5a) = A4tst
H?
D 0.142-3 @)0.1a%2 + 3 ® 0.5a%2 -3
@ 05a%2+3 ® a®-3

B

V8la2 + (- V3a)? + /(-0.5a)% x ( @)

= —9a x <—%> + (-0.5a) x (—éa)

=3+0.1a®
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